
# Čtyřhra mužů - finále
Výmola - Handlíř

#
Výmola - Handlíř

# 6/3 6/2 
Nejedlý - Leipner

#
Výmola - Handlíř

# 6/0 4/6 (10/5)
Šíma - Šlor

#
Šíma - Šlor

# 7/5 2/6 (10/7)
Kučírka - Lapčík

#
Výmola - Handlíř

# 6/1 6/3
Jadamus - Jadamus

#
Argiriu - Trumpeš

# 6/3 6/3 
Argiriu - Trumpeš

#
Argiriu - Trumpeš

# 6/4 1/6 (10/7)
Janíček - Janíček

#
Janíček - Janíček

# 4/6 0/2 SCR
Bryška - Kovařík

Lipták - Mikuš 6/0 3/6 6/3

Lipták - Mikuš

7/6 6/3 
Hráček - Trubačík

Krejčiřík - Pospíšil

6/4 6/4
Kubát - Souček

Krejčiřík - Pospíšil

6/2 6/2 
Krejčiřík - Pospíšil

Krejčiřík - Pospíšil

6/1 6/4
Beneš - Matuška

Blizniak - Baláž

6/0 6/2 
Blizniak - Baláž

Blizniak - Baláž

6/4 6/7 (10/6)
Černý - Bumbálek

Netolický - Fiedler

4/6 6/3 (10/8)
Netolický - Fiedler

Krejčiřík - Pospíšil


